¥OAav.INOD

Z3HINVY Yodv9 D_><h Jsor
Z 7

VAILYHESININGY YHO. dla alg3yd
_._n\uw).O._n_:. 9] ON3YO 373N 13ZLI YNNVAOID
0 0O \
/
75'598°2Z 6¥9'6.561 mv{hmdr €6LgYY'Ly 0 €6L'SvY'LY “\\ 0jseD |ap |ejol
g
75'698'22 '6L5'61 6v9'6.5'61 €61'Svy'Ly 0 €61 'SPy’ Ly
= Qk96L3 i ? SONVINH SOHO3¥3a 3a 1V.LVYLS3 NOISINOD
15'598°2Z 6v9°6L5'6L 6V9°625'61 £6L'SYP LY £6LSPY LY ejouapuadag/owey uis

(p=¢)=9

ojanlafagns

4

opebuanag

(zZ+1)=¢ | z L

| 3 |
opesyipoy [ {stopanped) A ouuno.:._<

s0sa.b63

202 3p ojunr ap 0 [e 04au3 ap | jod
BAjBJIS|UIWPY UQIDBIYISEID
sosaib3 ap ojsandnsald |ap 012]2.13(3 |ap 09j3ijeuy opelsg
1ISOLOd SINT NVS ‘SONVINNH SOHO3¥3a 3d TV.LY.LS3 NOISINOD

ojdasuoy




